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QUESTION 1

An administrator needs to initiate a new VDI project within a couple of months. Prism Central reports there are no
storage resources to accommodate such workloads.

The administrator sees many powered-off VMs and has the authority to delete test VMs powered off at least for 30 days.
Test VMs belong to the Test category.

Using Prism Central, which steps are required to identify the correct VMs to be deleted?
A. Use Capacity Runway to filter by Test and Powered-off VMs

B. Filter VMs list, choose Test category and Inactive under Efficiency

C. Create a new Scenario selecting Test VMs. filter by uptime

D. Create a new Project selecting Test VMs, sorting by power state

Correct Answer: B

QUESTION 2

An administrator needs to make sure an RF3 cluster can survive a failure of two complete racks without negatively
affecting performance. The current cluster configuration consists of the following:

1.

30 All Flash Nodes: distributed 10 nodes per rack across three 42U racks

2.

Each node is configured with 20TB usable storage all flash (Cluster Total 600TB Usable)
3.

Current cluster utilization is 500TB storage

4,

Storage containers have Erasure Coding enabled

Which configuration changes should be made to make sure the cluster meets the requirements?
A. Expand the cluster to 50 nodes distributed evenly across 5 racks

B. Expand the cluster to 48 nodes distributed evenly across 6 racks

C. Expand the cluster to 60 nodes distributed evenly across 6 racks

D. Expand the cluster to 40 nodes distributed evenly across 5 racks

Correct Answer: C
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Ref: https://portal.nutanix.com/page/documents/details?targetld=Web-Console-Guide-Prism-v5_17:arc-configure-fault-
tolerance-rack-prism-c.html

QUESTION 3

An administrator is using Nutanix Move to migrate a Windows VM from ESXi to AHV. Automated guest preparation is
failing with an error:

Account has UAC enabled error

The administrator is using the local built-in administrator account for the Windows VM Admin approval mode must
remain enabled.

What should the administrator do to continue with the migration with Nutanix Move?
A. Use a Domain Admin account for the Windows VM

B. Reboot the Windows VM and try the migration again

C. Follow manual VM preparation guidelines

D. Place Windows VM in Maintenance Mode

Correct Answer: A

https://next.nutanix.com/move-application-migration-19/nutanix-xtract-validation-failed-user-must-belong-in-a-group-with-
restore-files-and-directories-security-policy-31303

QUESTION 4

An administrator is deploying a new application to a Nutanix Enterprise Cloud. The application requires a security to
prevent unauthorized access. The application also uses many non-standard ports that are unique to it. Security should
not be changed for existing applications.

What should the administrator do to meet these requirement?

A. Use existing categories for the VMs. and create new security policies to use the existing categories.

B. Use existing categories for the VMs and modify existing security policies to include the specific port.

C. Create new categories for the VMs, and create new security policies that include the new categories.

D. Create new categories for the VMs, and modify existing security policies to include the new categories.

Correct Answer: C

QUESTION 5
An administrator is deploying a three-tier application on a Nutanix Enterprise Cloud consisting of web, application, and

database VMs. Traffic between the servers must be limited to specific services/ports. There is an application layer
firewall VM deployed on one host in the cluster.
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In which way should the administrator meet this requirement?

A. Create a network for each type of VM, and use policy-based routing to control the traffic flow
B. Configure a security policy and service chain redirecting the server traffic through the firewall
C. Separate the web. application and database VMs on to dedicated VLANs

D. Categorize the VMs in Prism Central and utilize Flow to set a security policy

Correct Answer: D
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